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Let [x] denote the greatest integer not more than x. If A and B are the domains of the

s e s

functions f(x)= ——= andg(x) = respectively, then
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n’ — 5 n’ + 4n is divisible by 120 is true for

120 3 7° = 5 1 + 4n ePPoDREBI08 WRIG DD a3E
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all positive integers »
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all positive integers for 7 = 1 only
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all positive mtegers for n = 5 only
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Let [A],, be a mnon-singular matrix such that A™==(A’-5A+7I)
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A(z,=2+42i). B(z,). C(z;) are three points on the Argand plane satisfying
‘zk —~23 ‘:2. (k=1.2,3).If AABC encloses the maximum area, then the sum of the

maginary parts ofz, and z, 1s
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If the quadratic equations 3x" —7x + 2 = 0 and k" + 7x — 3 = 0 have a common

root then the positive value of & 1s
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If the roots of x +ax +bx+c=0 are in arithmetic progression with common
difference 1. then
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If a. f. r are the roots of the equation x° +3x” —x—3=0, then

{1+a2)(1+ﬂ1}(1+;/3):
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The number of mtegers x. v. z. w satisfying x + v+ z+w =25 and x.v. 2 = —L

w =118
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If 3 sisters and 8 other girls are together playing a game, then the number of ways n
which all the girls are seated around a circle such that the three sisters are not seated

together, is
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Suppose /, m, n respectively represent the coefficient of x!°, the constant term and the

15
4 l .Ifi—_ﬂ . 28 _then a?: p? =

i
% 3 S L . o)
coefficient of ¥ in the expansion of [ R
\ Xy m n 11

5 15

i
l.m, n Q) DA | ax’ T%] Bog), DRGE S0 x? AI0E), eSS, DG DEAW
\ X )

¥
So6adn x 10 O30E), e w8 oo, i+E = f 290008, XD CD g =
m n

Options :

16:9
1. %

B!

2.¢

4= 1



1:25

4. ®

Question Number : 18 Question Id : 719650818 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
g n
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If — 11 = ‘:\T%B + E"Y+D , then Cos™ (A+B+C+D)=
X+x 4+l x+x+1 x—x+1
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+ 15

=

The period of : : -
cos3xy cos9x cos27x cos8lx

sinx  sin 3: sin 9: sin27:
L A © o), 5680

cos3x ¢co0s9x cos27x cosBlx

Options :
2n
T
n
81
2. %
2n
3. %
3k
4.

Question Number : 21 Question Id : 719650821 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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If A+B+C=60",then cos(30° — A)+cos(30° —B)+cos(30° —C) +sin(A+B+C) =

A+B+C=60" 9008, Sy Nl
c0s(30° — A) +cos(30° —B) +cos(30° —C) +sin(A+B+C) =

Options :
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If |sin X—C0os” x| = |3 —3smxtsm” x‘+ 4 |Si11 x— 1‘ cthen xy =
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The number of real roots of the equation sin [ZC{)S_1 {COI [ZTall_lr)}:| =0 that are

greater than or equal to one are
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If Sech™ L J Cosech™ i =log, & ., then
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The permmeter of a AABC 1s 6 times the arithmetic mean of the sine of its angles. If

its side BC is of unit length, then |[A =

28 Gzbadw ABC dwg), o Sod, od oo 29 © ), @os
BDEE0AVDH 6 Bew. T 2028 BC o T $90 coll. ey |A =
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In a AABC. with usual notation. if » = 5, —7, —r;. then 2R =

2.8 Gabedin ABC & Joedes 0083w o, 71 = 17— 15 —7; 0008, i)y 2R =

Options :
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Ina AABC, let a,b,c,s, 7, R 1.8, 1,1, 1, stand for their usual meaning. Then

Match the items of List-I with those of the items of List-IT

af Sabasn ABC & ab.cs.r,RIS n,n.n w0 o8 Fordn @bsnd

DPIPORNSETre, @) PRl S0 woddnod, TRl SO wodSowed”

23890 GN b
List-I List-IT
8ee0e -1 g -11
A r
A) tan—= ( (b))
- L I Al |————=
2 s—a ) ( )\J be
B) r 1I) R?
C) {Sj)2—|-2Rr 11I) {4R+r—:ﬁs}(4R—:r—J§.s]
D) itn+n V) A
S
—p )
A

The correct match 1s
OGS 23¢9
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1. 8
A B C D
Vv I II I1I
2.
A B C D
Vv I IV 1III
3 8
A B C D
I IAY III I
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If a.,b, ¢ are the position vectors of the points A, B, C respectively, then

match the items of list - I with those of list - II

a,b,cen SO DoldeHw A, B, C o g“é;‘oéégé, WD el &

0FaNO, ePedeP -1 0 Woddnewes” 2edHnGNeG

List—1 List—1I
el — 1 eped — 11
A) a=2i +3j + 4k, I) A, B. C are collinear
b =3i +4j + 2k, A. B. C e 28Dosren
c=4i +2j +3k
B) a=j 4 2}.,. 3. ITI) AABC is an isosceles triangle
b=3i +4) + 7k, AABC 28 DB08Eram G20280
c=-3i-2j-5k
<) a=2i—j+k. IT) AABC is a right-angled triangle
b=i -3 -5k, AABC 2 oo Ses Saboadn
c=-3i—-4j —4k
D) E:;+F+ r. IV) AABC is aright-angled isosceles triangle.
b=i+2j+3k, AABC 2.8 @08 563 D20QEram 330280
BT o

V) AABC is an equilateral triangle
AABC 208 0302730 Gzdaasnd

The correct match is

00N 2285
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If the point of intersection of the lines » = 7 -67 +(pseca)k + t(i + 27 +k)

and = 47+ k+2(2i + (ptan @) +2k )is 87 + 87 +9% ., (where 0 < <§) :

—

then p =

r=1-6j+(pseca)k+ t(i+27+k)08cin
r= 47+ k+A0Q27 + (ptan @) ] +2/k) S0 5bS Dotiosd) 87 + 87 +9k
0<a g G.‘JQJJ&‘)KJ_):]CZJ) 2900083, Q_‘)KQ_):)C‘.J o=
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{ . m., n are three unit vectors i a right handed system and L 1s a line through the
points A, B, C whose position vectors are pl +Tm—67, 2] +5m—47 and
1 +4m 37 respectively. If the equation of the plane containing L and the point
(-p,p.p+Disax + by + ez =1, then p (a + b + ¢) =

T, m, 7 o $& 3O 350 S Sre orads H&¥en 00k pl +7m—67,
20 +5M—47T 200030 [ +4i—31 0 DD FD DORVT (0 DotdPew
A, B, C & ot D B2 L. Dotoed) (—p, p. p+1) 5 o0k S L D £0H eol
B0 DAEGE0 ax + by + ¢z = 1 ewond, WD p (@ +D +c)=
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—40
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40
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Let a = ;+2} —2k and b=2i —;—2?. If the orthogonal projection vector of a on

b be x andthe orthogonal projection vector of b on a be T , then F - T‘=

a=i+2j-2k obaw b=2i-j-2k eForre. b P a e, vorw DFD
2B% ¥ 2B @ D b CIVE), vow DED VP Y VOB, WD\ ‘E - §‘=
Options :
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Let p.g.r be three non-coplanar vectors and |_; q ;] a=gqxr,

[; q ;] b=rxp. [p q r] e = ; X & If a.b, ¢ denote the cotermimous edges of

a parallelopiped, then its height with the base having a and ¢ is

P-g, 1 @0 20 0STOEBIw 00 [p g 7 |a=gx 7. [p g r |b=rxp.

[ P AT = pxq.alhsreds Hossn g, SFErs eeies a,b, ¢ w eand,

O @ SO0 ¢ OB FOS BFIeS’ O By I
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If b . ¢ are non collinear vectors. ‘F‘ £ 0,
a x(b xe)+(a.b)b = (A-28-Sina)b+(B>-cand(c.c)a=c,

then the scalars o and f are

b . T “0Dabo 50D Hd%ew, c| #0,

(b xe)+(a.b)b =(4-28-Sina)b+(B*—1DecSocsn(c.c)a=¢c

2|

00003, DN dvBen & B [

Options :
T NI —
a=—+—,nekl; =
1 #® 2 = |
;r L
g=—+2nm nelk =1
2.¥

-

Py - »T
a=—=+(2n+l)—. neZ, =2
5 ( }2 g

=7
Fr

a=(2n+1)7,, neZ, ﬁ:%

SN
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The variance of the following frequency distribution 1s

Classes 0-10 10-20 20-30 30-40 40 - 50 50 - 60

Frequency 11 29 18 4 5 3

5ol Tl QDdgo DETFERTVS DY

SSHLD 0-10 10 - 20 20-30 30-40 40 - 50 50 - 60

Fads Qdgo 11 29 18 4 5 3
Options :

165.3
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161.1

2.9

282.1
3. %

152.5
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The mean deviation about the mean of the following data is nearly

Size(x) 1 3 5 7 9 11 13 15
Frequency(f) 3 3 4 14 7 4 3 4
SRS TARATE ST LROVIV I VATINVERNVEIRINVATINVE VNIV RS VN VoV o
ez (x) 1 3 3 7 9 11 13 15
F)dge (/) 3 3 4 14 5 4 3 4
Options :
L w 345
325
2 ®
2.75
38
285
4.9

Question Number : 37 Question Id : 719650837 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



If the roots of each of the equations 2x°+ x —1=0. 3x —10x + 3=0and
6x*+ 11x—2=0 corresponds to probabilities of three events of a random

experiment, then those events are

2x°+ x —=1=0, 3x°-10x + 3=0 208ciw 6x’+ 11x-2=0 JN¥SEFL AR
Glogy, rodnen @ OIRG)NNE DAt ) Srdh AL DegradgBusy
5630, 93 & Dodiden
Options :
equally likely
00870833 TSEID

exhaustive
RPSE DHoddadSen
2.9
mutually exclusive
DGRYE DBOBIIEID
3.8 )
mutually independent

DE0)0 D3oEeiddEdD

4. %

Question Number : 38 Question Id : 719650838 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Cards are drawn one after the other without replacement from a well shuffled pack of

cards until an ace card appears. If the probability that exactly 5 cards are drawn before

A(ppp

. , (p; ispnme, i =1, 2, 3, 4, 5, 6) then
A9\ Py-D5-Ds

the first ace card appears 1s

(max {p,} -min{p,})=

I P EOS DG DF S0FH© ) ok, SIS 520D WO D0DHet® & G Sy SO
2§ T°Q 3020l TS TG ). WL B 5200 TPeSEPRS oS00t ED Yol 5 5°goew

™

i MJ (p; T oowy, i =1, 2,3, 4, 5, 6) sowd, sy

49\ p,.ps.Ds
(r8a {P;‘} — 80 {P’f,}) =
Options :

12

1. ®

) VNI

18

2. 8

20
3.

-2
2

4. 8

Question Number : 39 Question Id : 719650839 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A number 1s selected at random from the set {1 - S 1 0(}} . Given that the number

selected 1s divisible 2, the probability that it is also divisible by 3 or 5, 1s

RS {1 2.........100} 00l OIPEHDYEorP 88 Dotz Wodf IFE), BEP wodE WS

Domdg 2 &3 27700020000 FRYI W, 88 3 Gor 5§ & Srer rfoded RoeT a5

Options :
26
50
1. %
23
50

2.¥



2]

o
LS

Lh
<

Question Number : 40 Question Id : 719650840 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A target 1s to be destroyed in a bombing exercise and there is a 75% chance that a
bomb will hit the target. Assuming that two direct hits are required to destroy the
target completely, the mmimum number of bombs to be dropped in order that the

probability of destroying the target is not less than 99%. 1s

208 OF(D) ToELLA DD Hdates” (R0 BA3rd odaty ws eroew VF(D)
D603 Roerdd 75%. e @_)?5.:);1 Qe G oR0 BODTEAS Botdd eTroeeD 95VG0
ONT O Sobl, e &J}&’éb& AN S LoDrw RoerdfS 99% S8) DS
00005 DOW DVVN T 02L SN R0&)]

Options :

Question Number : 41 Question Id : 719650841 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let X ~ B(n, p) with mean p and variance 6. If 1 =2 ¢?and j1 + 6> = 3, then

P(X<3)=

BohgaS0 L S0BASD DD 6> & X ~ B(n. p) @Forro. p=2 67 Hoaw p+ o =3
oS, WD P(X =3)=

Options :



16

1LV

| k2

17

3 8

| -

Question Number : 42 Question Id : 719650842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
IfA=(1,2),B=(2, 1) and P 1s any point satisfymng the condition PA + PB = 3, then

the equation of the locus of P 1s

A=(1,2),B=(2.1) £8ci» PA + PB = 3 {50 & 068 O Dotod P
290008, e3¢0 P aing), Dotiaddcio RadEtedo

Options :

16x* + 7y*— 64x — 48 = 0

1. 8
¥+ 10xy + 25y — 34x — 170y = 0
2 R
32x"+ 8xy + 329°— 108x — 108y + 99 = 0
3. ¢
4x*+ 12xy + 9y*— 20x — 30y = 0
4. %

Question Number : 43 Question Id : 719650843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Let C be a curve ax” +2/ixv+bv? +2gx+2 fv +¢=0 in a cartesian plane. By rotating

the coordinate axes through an angle in the positive direction, if the transformed

.
4
( h

equation of C is Y* +XY —X=0, then (/> —nb]_g af =

208 TERADS Bwod” w8 D50 C D ax’ +2hxy+by’ +2gx+2 fi+c=0 eForro,

Drs wTod 6D 63 % €m0 Dot Fvmo BoBEDIDYW, C abog),

205G DABe0 Y +XY - X =0 wond, @k (h* —ab)-2 gf =
Options :

v 0

Question Number : 44 Question Id : 719650844 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the straight line passing through the point P (3.4) makes an angle % with the
positive direction of X-axis and meets the line 12x + 5y + 10 = Oat Q, then the
length of PQ 1s

T

P(3.4) Dothd) thomr Icdh 26¥ O, X-oic OSHIS 7 €0 3@

12v + 5y + 10 = 082080 Q 56 Seuuotd, ey PQ Ted

Options :
44
124249

66
124/3+5

2. %



Question Number : 45 Question Id : 719650845 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If the equation of the straight line passing through the pomt of intersection of

x+ 2y-19=0, x— 2y—-3=0 and which 1s at a perpendicular distance of 5 units from

the point (—2.4) 1s 5x+ b y+¢=0, then a possible value of 5+ b+ c 1s

X+ 2y=19=0,x—2y-3=00 DB Rt Vo&> F&E>@ (—2,4) Dot ok
5 COrOLn Lot GrdetS’ o DO B Dd¥Ste Sx+ by+e=0, Bod, ey
5+ b+ c O &l AOS e

Options :

—108
1. %

10

. ®

86

3. %

sv 14

Question Number : 46 Question Id : 719650846 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If two equal sides of an isosceles triangle are given by the equations

7x —v+3=0and x + y — 3 = 0, then the equation of its third side passing

through the point (2, —3) 1s

&8 D00 320°sTR 28235y Cotiy e3P adassinw Hau8dErey 7x — ¥ + 3 = 0 baiw
x+y—3=0 wwd, (2, -5 2ota) tHo® FOIEPY P ghezdn Cwg)

e Ebes0
Options :



1.¢

3x—yp=11
2. %

Tx+2y=4
3. %

Sty=l
4. ®

Question Number : 47 Question Id : 719650847 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Suppose O (0, 0) 1s the origin and the line L = x + v — A = 0 meets the curve
¥+ 37— 2x — 4y + 2 = Oat A and B. If |[AOB = 90°, then the distance between

such limes .=01s

O (0, 0) & Hr0 Rotdad) ©O OO SES» ¥+ —2x —4y +2 =08
L=x+y—A=00® A 00iwB o 356 BTV B8 T, |AOB = 90° esoed,
Y BEFeLd Saew L= 0 © Sughg to drde

Options :

-

5 8

=y
+

Question Number : 48 Question Id : 719650848 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Let P be the pomt of intersection of the lines , =x—y—-7=0and L, =x+1y-5=0.
A (x1, v1) and B (x2, 12) are pomts on the Imes L1= 0 and L,= 0 respectively such that
PA=3\2.PB=42 , 5,1 =0, x,v, = 0, then the angle made by the line segment AB

at the origin is

Li=x—y-T=0 $00% L=x+y-5=0 000 &S Botha) P @8%0main.
PA=32,PB =2, 53, 20, x,y, 20,e00hgbtw, A (x1, 1) $H0050 B (x2, y2)
$60%re Li= 0, L= 0 3200 3 Dotsion, @R 0o ool $6 armetsn AB 3
SN

Options :

®
=y

b2 | N

3. %

)

9 |
V85 )

Cos™ [

4.

Question Number : 49 Question Id : 719650849 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

=

If the poles of the line x—y=0 with respect to the circles x>+ 3’ -2gx+¢’ =0

i

i i
(i=1.2.3) are (e,. ). then ZL’Q =
=1 &

O

a

¥+t -2gx+cl =0 SySave Byry ¥x—y=0 cqwy Sysven (4, f) sond,

3 1
Z &; —,3} =
=l &;

Options :

¥ 5]

LV



2. %
z
3
2
3. %
3
4
4. %

Question Number : 50 Question Id : 719650850 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If the circles x*+ 3y°—4x +6y+13—a°=0and "+ y*— 10x — 2y +17 =0

intersect i two distinct points, then ‘a’ 1s

X+ P —4x + 6y+13—a’ =0 2000 ¥+ 37— 10x — 2y +17 =0 &
FE30020 Cotld el Beliad® B¢ BeliotdS eld, YW '@’ DL
Options :
R S

1. #

a>8
2. %

2<a<8@
3.

-

Fo Sl

Question Number : 51 Question Id : 719650851 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



If a circle of radius » touches the positive coordinate axes and also the circle

a3

X’ + y*— 12x — 10y + 52 = 0 externally. then the distance between the centres of

the two circles is

P SPOANITD WS B30 B3 JEF0S BLAVOR DRI DA SySdn
¥+ 37— 12x — 10y + 52 = 0 &0 erdriorT 03,0008, DY @ Sol &G
W), Solahow 065 CrSo

Options :

7

1. %
2.

3 8

4. %

Question Number : 52 Question Id : 719650852 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
= 2 2 i & 2 7
If the circles x+ y"—-2x-2y +k =0 and x"+ y + 4x + 6y + 4 = Otouch

each other externally, then the poimnt of contact of the two circles 1s

Syswen x*+ ¥* —2x -2y + k = 000050x7 + ¥* + 4x + 6y + 4 = 0ergorP
D) R, & JYWSwe DG Doled)

Options :

r/_l o

53
1.¢

[, 4]

\3" 3)
2.8

(=1, =3)
3. %



Question Number : 53 Question Id : 719650853 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The centre of the circle passing through the pomnts of intersection of the circles

(x+3)" +(y+2) =25 and (x—2) +(y-3)" =25 and cutting the circle

[’_«\»;1]2 +(y —2)2 =16 orthogonally is

(x+3)" +(y+2) =25 200w (x—-2) +(y-3)" =25 ©F SYBSNL DS DotdHo
B0 FEP 00 (x+1)" +(1—2) =16 SYBI0 Votol™ Wolodd Sy Gy
Solo

Options :

(27 =25
\ 272
1.

wh

(0.0)

Question Number : 54 Question Id : 719650854 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If a circle with its centre at the focus of the parabola 17 = 2px is such that it touches
the directrix of the parabola, then a point of mtersection of the circle and the parabola

15

12 = 2px HoPSLoHe Q308 &) G Sogdedinad BON 2 &yBn, & HOPILOIRY) VCkS
Tadd 093006, @D & x2adnd O0KN & DUPSLORSNL) 2l LI Batiad)
Options :

\

2P

Vi
[
|
|

|

1. ® X



.f/—p )
IK 3 *

2. 8

(p }
L2 2

3.9
(%)
4 %

Question Number : 55 Question Id : 719650855 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If the tangent drawn at the point P(4, 8) to the parabola 1> =16x meets the parabola

3" =16x+80 at A and B. then the midpoint of AB is

¥ =16x ©F HOSLOLINIH Dotioed) P(4, 8) 3¢ HAS 0383w, ¥* =16x+80 ©I
HOSOOSPIY A $H0050 B © $65 Senknetd, @i co AB G, S0dg 8etied)
Options :

9, 6)

1. ®

v (BB

(4. 1)

3. %

(2,3)
4, %

Question Number : 56 Question Id : 719650856 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



If the sum of the distances from the foci fo the centre O(0. 0) of an ellipse is &JE units

and the area of the smallest rectangle in which that ellipse is inscribed is 80 sq. units,

then the equation of such an ellipse is

28 &Y Jydan ol RO Dok e 00, 0) § fo Srddve s 86
rQgL 000NN & B &Sl wothddte Tk 33 (T wegedd Liw) & Sebdle

JPego 80 < || CIrddn ecnd, eyl weretd ol &id e cingy Ha08dee

Options :
2 2
=IO I
100 64
1.8
2 2
X W
100 16
2.8
2 2
L + 1_ — |
10 4
3 8
2 2
100 4
4.9

Question Number : 57 Question Id : 719650857 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The equation of the ellipse with directrix 3x + 4y — 5 = 0. focus (1. 2) and
eccentricity %.is
QOLS S 3x + 4y — 5 = 0, oD (1. 2) DO &Sy ol % ™ (G0 OOSySain
¥y, DECEIN

Options :

x*+ 84y — 24xy — 360y + 170x + 475 = 0

1. #

9lx”+ 843" — 24xy — 170 x — 360y + 475 =0
2.



9127+ 8412 — 24xy — 170x + 360y + 475 = 0

91x%+ 843> — 24xy — 170x — 360y — 475 = 0

4. 8

Question Number : 58 Question Id : 719650858 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
A rectangular hyperbola passing through (3. 2) has its asymptotes parallel to the
coordinate axes. If (1, 1) 1s the point of intersection of the two perpendicular tangents

of that hyperbola, then its equation 1s

(3, 2) o VA ¥ Lo BB HTSVODLLW, TR Wod Y8y CPOD VETDHE
BEI00LZ OSroBCerr O Gob. @ DOPSLONSD TNy Totdd Loz VNG CaO &olics

2otied) (1. 1) 000w, @i &P Hd¥dens

Options :
Xy =x +—
¥
1. % ‘
1)
x|z #1 42 |=1
) % \ X/
x(1-y)=y-1
3. %

xy=x+y+l
4.9

Question Number : 59 Question Id : 719650859 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



E(1,0.0). F(0.2.0).G(0.0.3) are respectively the mid points of the sides AB, BC,

CAof AMBC. If a,. b, ¢ and a,, b,, ¢, are respectively the direction ratios of

c.fl? - 2)12 - (.’12
AFand BG ., then ——% 1 —

2 2 3
a;” +b, " +&;

E(1.0.0). F(0.2.0).G(0.0.3)en dmAA4ABC O?DJSEJ ZHowaanew AB. BC, CA
© DI DoINL. a;, by, ¢ OASD @,. b, . ¢, 00 BT AF Hoboin BG o &8

2 2 2
a”-+b” +c
Rogfen 2500083, L) Nab g
a, +b, te

Options :
E
41
1.v
E
. 26
E
43
38
13
4w 43

Question Number : 60 Question Id : 719650860 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If the direction ratios a, b. ¢ of a line L satisfy the relations ab + bc + ca = 0 and

6 ab +9 be + 8 ca = 0, then the direction cosines of the lme L are

8 O L aiwg) &5 ayeva, b.cevab +be+ca=0 50050 6 ab+9 be +8 ca=10
O D0200LPOD By HBIRS, @Y ch O L cing)y &5 S

Options :

I 1 4

NERNERNG]

1. #



SN
-
Sl

2. %

5L
it
S5

|
Ll
~1]| 2

520
7 o

Question Number : 61 Question Id : 719650861 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The equation of the plane passing through the line of mtersection of planes
IL=2x+4+6y +4: -7 =0, I,=x —y — 2z — 2 = 0 and perpendicular to

theplane x + y + 22 — 5 =0 1s

I=2x+6y+4z -7 =0, IL=x -y — 22 -2 =0 dwivow 35 6
ot DT BAIL X + ¥ + 22 — 5 = 0 D005 o2l Gole SH0:50 D0EGESN

Options :

WAy -2 =0

6x + 2y —4z+55 =0

2. #

6x + 2y — 4z —-15 =10
3.¢

3x+y—-2:2-15=20
4.%

Question Number : 62 Question Id : 719650862 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

_ xtandx—2xtan2x
Lim =

30 (1-cos -er')‘Z

Options :




= | =

2.¥
1

3. % 2
1

4. %

Question Number : 63 Question Id : 719650863 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion(A): f(x)=|x—a|+|x—b|.is continuous on R
eeal,

Reason (R): ——'is continuous at x e R —{a} .
x—a

BB (A): R

fe/

f(x) :|x—a‘+‘r—b‘, @Dﬁ)‘bélo

sGusn (R xeR-{a} s

‘i = a\ QS’:JE)Q}KJJO

—

The correct option among the following 1s
S S0 DDYFOS VOGNS

Options :
(A) 1s true, (R) 1s true and (R) 1s the correct explanation for A

(A) 5550, (R) H93550 50050 (A) § (R) 0O 953

(A) 1s true, (R) 1s true but (R) 1s not the correct explanation for A

(A) H5ge5, (R) 9385 ©00@ (A) § (R) OGRS 0508 55

2. ¢
(A) 1s true but (R) 1s false

(A) H350, 50 (R) 00550

3. %



(A) is false but (R) is true

(A) S50, O (R) Hehgasn

4. %

Question Number : 64 Question Id : 719650864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

It x\/l_'." —5.1’\/1—?-\‘ =0, then i—1:
dx

Yylty s ryflex =0, 003, i)\ ::_1:

Options :
-1
(1+x)
1.
1
(14—3{]2
2. %
2
3
(1+x)"
3. %
-2
iV
(1+x)?
4. ®

Question Number : 65 Question Id : 719650865 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

5
If p(x) be a polynonual satisfying p(2x) = p'(x).p"(x). then Z p(x)=
x=1

P2x)= p'(x).p"(x) Q &2 DOBLRLTT P(X) 8 LTUDE and, LE) N i p(x)=

x=1
Options :

200

1. ®



100
2.9

Question Number : 66 Question Id : 719650866 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If 2%+ 2¥Y=2*% then av..
dx

2P+ 27=27 090008, @8N %:
ax
Options :
-2
1.
- 277
2. %
1+27
38
R
4, %

Question Number : 67 Question Id : 719650867 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the tangent and normal drawn to the curve x = @(6 + sm 6), v = a(1 — cos 6) at

F.a B
( m ) : : : :
PL 8= EJ cuts the X-axis at A and B respectively. then the area (in sq. units) of A

PAB is

T 56 s 038308 S065w
(]

— -

I
x=a(0+smnb)v=a(l—cos6) agmasaﬂ 6=
\

4

2
VRVSNLY X- WFA) DDA A OO B © 3¢ aehduell, koA PAB

3]

TS, DFPOEED (&5 || ctardes?)

Options :



2
a

5

1. ®
A2
2
2. % d
2
a
3.¥
¥
.
4. ®

Question Number : 68 Question Id : 719650868 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

x1, x2 € N. If a line having slope 2 is a tangent to the curve

v =x'—6x +13x =10 x + 5 at points P (x1. 1) and Q (x2, 12), then x1x2 + viy2 =

x, x2 € N aren 2 e 5088 2 S, SESn ¥ = 2 -6 +13x" 10 x + 5%

P (x1, 1) 00050 Q (x2, 12) Dot DG 28 808 ©ONS, GiYywo x1x2 + 3132 =

Options :

17

2. 8

3. %

—-10

4. %

Question Number : 69 Question Id : 719650869 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Consider the following statements

o a, el
Statement (1): If @, + — + — +....... +—2—=0,where a,, a, , .... a, arereal
2 3 n+l
numbers, then the polynomial @, + @, x +a,x" +.....+a, x" has a zero

in the interval (0.1)

Statement (I ): If f:[a. b] >R is continuous on [a. b] and fis differentiable in

(a) _ f(b)
a b
¢ € (a. b) suchthat c f'(c)= f(c)

. then there exists

(a.b), where a >0 and if A

& $08 DIDT VR STl
200 (1) a,, a , .... a,00 TS “@omsgé@bciz

¢ L] a
. : 0
2 3 n+l
g+ O X+ 0, X TODG W8 BRRFSAN $BA Gotwod.

=0 008, W)y (0.1) wosstoes*

VdS3D0 (II) : [a.b] 2 f:[a. b]>R @maé;lo, a >0 ®ond&(a. b) & f
fla) _ f(D)
a b
¢ f'(c)=f(c) ewdbetnr ¢ € (a. b) d5dado

g0 Nao H8ai

e90ED, LTSNS

Which one of the following options 1s true?

& So0d 33&!)9@&3'6 D& DSA§H0

Options :
only (I) 1s true

(I) g0 DS

1. ®

only (II) 1s true

(II) S RS0
2. *

neither (I) nor (II) is true

(1) ENIEIPNEY s () RBOD B0

3 8



both (I) and (IT) are true
(I) S0o803:0(11) e Codkr DB

4.9

Question Number : 70 Question Id : 719650870 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A function y = f(x) with f (—1) = — 249 has no maximum and has only one minimum

at x =5 with 7 (5) = 75. Which one of the following 1s true?

¥ =7 (x) 93 DhoSe X 5000 S, f(—1) = — 249 0050 x =5 S f(5) = 75 &5 88
% E0009) 500, @X Y St §obd IO B Hehg?
Options :
At some point in (—1. 5), f(x) 1s discontinuous

(-1, 5) &° A Dotdoed) 5B (x) DD S0

1LV
The minimum value cannot be 75 since f(-1) < f(5) = 75
F(-1) <£(5) = 75 see) £33 Dewd 75 searod
2. % '
£ (x) 1s discontinuous at every pomt of F.
. . a3og), D8 Dot DG f(x) 20y 0
£ (x) 1s continuous on k.
E 2 /(%) 0dd)dye
4. 8

Question Number : 71 Question Id : 719650871 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If Iesm:x (sin xcosx+cos’ xsin x)dx = emzx(l + f(x))+c, then f'(x)=

§ 2 - . - 2 r
J.e*’”‘ ¥ (sin xcosx +cos’ xsinx ) dx = e (1+ f(x)) + ¢ 0a0S, oDy [f(x)=
Options :

. 2
—sim” X
)

. % =



—COs™ X
0. % 2
——co0s2x
3. %
1 .
——sm2x
2
4.

Question Number : 72 Question Id : 719650872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

J~ 25x2 +8 5
ax—=
25x> +9
Options :
X 2 ) _I.] _1(5.\'\1
—af25x" 49 + —Sinh | — |+ C
2 10 L3 )
1. %
7 (5x+4/25¢ +9
X - 0 X 23x +
—af25x° 49 — — log 4
2 10 i 3
2. 8
X ] ¥ . 1{5 \"
—/25x" +9+—Sinh | — |+ C
b L 3)
3. ¢
= 1. [Sx—+25x% 49
25x> 49 + — log +C
3 Fi
4. %

Question Number : 73 Question Id : 719650873 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
m n
| a0 :‘[x (logx) dx=

Options :



H i
(logx e —ull, . o
m+1 m+l "
1.¢
x" ol n—1
e gl Mol
2. ®
n+l
xm+1 (log _1‘) "
m n+1 o L
3.8
n+l
" [log:‘-) L
n+1 my] Ml
4. %

Question Number : 74 Question Id : 719650874 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

1
The positive integer » < 3 for which Jex (x—1)" dx=16—6eis
0

1
‘[ex (x—1)" dx=16—6e @Cﬁ)é&)é&n n <5 6ol & QP00
0

Options :

. %

Lad

3.¢

2

4. 8

Question Number : 75 Question Id : 719650875 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0



T4 .2
5 , : s~ 2x
If £ (x) = sin®x + cos®y + 2 sin’x cos’x, then I E T e
0

S (x)

Ti4 .
sin” 2x

Hx)= sin®y + cos®y + 2 sin'x cos’y 0B, e_at’.g_‘);)m I o TR e
A
Options :
)
1.®8 ©
2
, 3
2.¢
=2
3. % 3
1
4. % 6

Question Number : 76 Question Id : 719650876 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Options :
his s
1. ¢ 63
25
2. % 7
3
32
3 8
16
25
4. %

Question Number : 77 Question Id : 719650877 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The area (in sq. units) of the portion lying above the X-axis and enclosed between the

2 2 2 -
curves V- = 2ax — x“and Vo= dax1s

Sgawen 17 = 2ax — P800 ¥ = ax © HG§ DOSHBPS, X- ez DD
E0G Jrodd DT (&5 || crdees® ).

Options :

3.¢

Question Number : 78 Question Id : 719650878 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

- - - ~ . ¥ - . s
The differential equation for which /x> + #n” = x + v is the general solution is

I+ my = X + v D FAPH) FEI (DOD WDHSVD DASCEAD

Options :
2 2
x° Yy x+y
2x 2yy y'+1lf=0
2 2w ¥
1. 8
2 2
y x+y
2x 2wy’ 1+y'=0

2 2 [ -‘;;2 4. .1':1"" ) J,n



L
=]

2x 2w v+1=0

3. #
2
X y X+ y
2% 2y 1+3'[=0
2 2wy Y
4. ®

Question Number : 79 Question Id : 719650879 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The general solution of the differential equation (x -2y +1) dy—(3x-6y+2) dx=01s

9DSOD DAEER0 (x—2y+1) dy—(3x—6y+2) dx=0 G0, FTFO FEBD

Options :
2
3[3
2 i +3 %) ~
Y—21—— .8115|_1 _},:(
5
1. ®
2
% E —x=2y}|
x—2y+— e =
5
2. ®
3 55 Héx-2y)
x—2y+—| -e =
5
3. ¢
2
1 25 —ix=2y]
x—2y+ e =
4.8 )

Question Number : 80 Question Id : 719650880 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The general solution of the differential equation (1 +3%) dx = (Tan !y —x) dy is

258D PASGEW (1 +)7) dy = (Tan™ y —x) dy GwE), FTrces D

Options :

x = (Tan_l .""') = fj i g—Tan_i}-‘
1.¢

e =l
v (T ) = L Qe
2. #

x=Tan"'y) -1+ C

3. %

x = (Tan'y) + C g Ty
4. ® ) ’
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Question Number : 81 Question Id : 719650881 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let G, W. E and S be relative strength of gravitational, weak-nuclear.

electromagnetic and strong-nuclear forces respectively. The correct statement 1s

A8 38860, COSH0-30d8, DEVLOSTTF) 0 SHOOKN LWL — SoldS VLR FOE DL
SGOP G, W, E 08w S. &8 5ol PR D0 Dades
Options :

S>W=>E>G

1. %



E>W>S>G

2. %

S >=E>Wa>iG
3.¢

S>=E>G>W
4. 8

Question Number : 82 Question Id : 719650882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

: , ; S|
What 1s the dimension of ?
o€q

(1t,= magnetic permeability

g, = permittivity of free space)

o, G,
HoEg
(11, = @00V 0 DddgBLs

£y = OS50 I, HOYED )

Options :

L2 T—E
1.¢

L
2. %

LE T2
3. %

LT?
4. %

Question Number : 83 Question Id : 719650883 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0



A person moves 30m north and then 20m towards east and finally 304/2 m in south

west direction. The displacement of the person from the origin will be

2 g8 30m €0 &g JN) EBO SH005 20m SPEy J IOy DSCK 3042 m FKS
2959 (south west) oJ9°00. Sore 2otiiad) ol & Sg8 Al e Faiadedo
Options :
10m along north

&®00 Jozoée 10m

1. ®
10m along south
B8 880 odozols 10m
2. %
10m along west
200 oJozuts 10m
3.
zero
&rdgo (o= )
4. %

Question Number : 84 Question Id : 719650884 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A particle moving along x-axis has acceleration £, at time t, given by f=f, ( 1
Y

5
}1
A

Where fy and T are constants. The particle at t = 0 has zero velocity. In the time

— |-

mterval between t = 0 and the instant when f= 0, the particle’s velocity is

_ ’ 3\
X- ko thom LERVET), 88 S t DRONINS Sy =1, 1—%;
goy® fo 00w T e oTesen, t = 0 SQ 8 Jo Ry = 0 00K L8
0000505 £= 0 oW & Stso GINE). Jfe.

™ Qéﬁ%&c&.

Options :



| I

— T

2 0
1. %

.17
2. ®

—f,T
3.9

£
4. %

Question Number : 85 Question Id : 719650885 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Consider following vectors

8o DAILD DONRS VS B oG

-2
=
C B

my

(Wi

The correct statement 1s
00 SGEsad0
Options :
E=4-B and A=D+C

—_ —_—

_E-—A+B and A=—-D+C



Question Number : 86 Question Id : 719650886 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A river 200 m wide 1s flowing at a rate of 3.0 m/s. A boat is sailing at a velocity of
15 m/s with respect to the water i a direction perpendicular to the river. How far
from the pomt directly opposite to the starting point does the boat reach on the

opposite bank?

200 m Jeeny o & 3.0 m/s Beowed” DSErU Gol. 15 m/s Jtseed” 28 HES SHS'V &

DO Loty OIS HOPBIr SO IS W) WOSY Y & DS POt Pde Dok
elIP &ﬁ;’ 830&’130@) 008 0ot BrBeeS Godd.

Options :

25m

60 m

2. 8

40 m
3

50 m

Question Number : 87 Question Id : 719650887 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0



An infinite number of masses are placed on a frictionless table and they are connected

: : : ; m m m
via massless strings. Their masses follow the sequence, m. —, — —,

2 6 n!

—

........ and they are further connected to a mass m that hangs over a massless pulley.

The acceleration of the hanging mass 1s

e O 8l WY 2 WNONY DogeS” BAgTPHEN Goleots, wESEE Kdg0°8 Sard

=
o

m m m

5 § e s s aErEEamaa

2 6 n!

S aTyon. G808 GG £y Sob JEHS) af $S08 m I ©3d)

B Seudeatimrow. o) Qagordhen SEP, n,

2389002063008, Jerctdd) (a5g0°8 Glug), Bl O8) ol

m m
m m —t
2

m
Options :
o
-
e—1
1. ®
e+1
2. ¥
£
e
3. %
£
2e
4. %
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Correct Marks : 1 Wrong Marks : 0



A block of mass m = 2 Kg 1s mitially at rest on a horizontal surface. A horizontal
force E =(6N) i and a vertical force F: = (10N)3 are then applied to the block. The

coefficients of static friction and kinetic friction for the block and the surface are 0.4
and 0.25 respectively. The magnitude of the frictional force acting on the block 1s

(Assume g = 10 m/s?)

&8 £8% Dalro®d 00BLp m =2 Kg © (55073 S ol 75 e5"end 07’ 6ol &
55D 3% DSretdS weoo EF =(6N)i ooy dkodwd woo F, =(10N)] w
@S0 Johwerow. @r§ Gue  JS der VK. HOCKL Hede G HTeEeL
SBOP 0.4 SHOCkw 0.25. &8 D DAV BEs 20V DO

(g=10 m/s? 3§ E)

AL I ETE

Options :

25N

1.

40N

2. %

3. %

4.%
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A force of 4 N acts on a 10 Kg body initially at rest. Let Wi 1s work done by force
during 0 <t < 1s. Likewise W2 1s the work done by force during 1 <t < 2s, where t 1s

T
2

time. The ratio 1s

v,

e5"eneh DoTeeS &ad) 10 Kg © 55009 2 4 N 2oto DARL0e6. 0 <t < 1s ©9oBFetS’ 2oto
WOSN B0 Wi 050500meai0. 1 = t < 25 €96 Dol €08 DOk D Wa, 8uiydo t 0l

. W,
T BOWSB, —= A

1

Options :

|
1. ®

2
2. %

1

2
3. %

3
4.

Question Number : 90 Question Id : 719650890 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

An elevator of mass 500 kg 1s ascending upwards with a constant acceleration
a =2 m/s>. What is the work done by the tension in the elevator cable during its climb
by 12 m?

(Take g = 10 m/s?)

500 kg 00 $850°3 K0 )OS3C6, G Bgdee a = 2 ms” 8 HS hoeweed. 12 m 28
EOOI ) O30 IPE (SeS) G0, B33 PYT° IODWES DR WJoB?
(g=10 m/s? ©056&)

Options :

36 kI



48 kJ

2.

72 kJ
3.¢

100 kJ
4. %

Question Number : 91 Question Id : 719650891 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A solid sphere of mass 2 kg rolls on a smooth horizontal surface at 10 m/s. It then
rolls up a smooth inclined plane of inclination 30° with the horizontal. The height
attamed by the sphere before it stops is

[Take g as 10 m /sec?]

af DD D ValreBd Do, 2 Kg (85078 SOOS a8 03 T'¢o 10 m/s o3tiees”
GE00. & BT HI) O S Hratsomvd 307 Tren Ko &H0SL PE EOID,
SOFOD 500t & (TFIN D DSrotitbo Dok WEIHIY, I
[2 & 10 m /sec? TP 3508%E]

Options :

70 cm

701 cm

2. ®

7.0 m
3.¥

70 m

4.%
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A rod of length L revolves in a horizontal plane about the axis passing through its
center and perpendicular to its length. The angular velocity of the rod is @. If A 1s the
area of cross-section of the rod and p 1s 1ts density, then the rotational kinetic energy

of the rod 1s

L &) ¢ éc} WP S0tdy Wotidad) HKel® JE°, TSR Vool (0 WXo Jozls £3e8
0520898 o’ @@8&&@0&. §€} §edod I . §ij9 @Q;ﬂ@é@" JFOg0 A oo ‘p’
Folith, ©OoNd 3G alng) aes (e €5

Options :
]- 3 2
—AL po
3

1. 8
1 3 2
2

2. %

1

24
3.¥
LALS "
T
4. ®

Question Number : 93 Question Id : 719650893 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Consider a simple harmonic motion (SHM). Let K and U be kinetic energy and

potential energy when the displacement in SHM 1s one -half [ % the amplitude. The
S

correct statement is

DO rorehE Sode HOMEETS 308 0. DGY roeeh & SeSees” Fdgfodo eV AN

¢ \
HODBE Do L | oy, K ddes 3 20000 U 38 8 o8 gowd 993

12 | =

DS

Options :



K 4

U
1. ®

K 1

U 2
2. ®

K _4

U 3
3_38

B

U
4

Question Number : 94 Question Id : 719650894 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A planet 1s moving in an elliptical orbit round the sun. The work done on the planet
by the gravitational force of the sun:

(a) 1s zero m no part of the motion

(b) 1s zero mn some parts of the orbit

(c) 1s zero m one complete revolution

(d) 1s zero in any small part of the orbit

QGogd OGP 88 (§ero OO Sy50 B o Wk, Ardgd 8uerg58es wwoe S
& (P &ON LD
(@) ) SO TS IR drdge S
(b) EEgSR Swrrod drdge
(€  2¥ord wedesed drdgo
(d)  SEgSR QY eehed drdge
Options :
only (c) 1s true

(c) S50 KOO

1. %



only (b). (¢), (d) are true
(b). (¢). (d) e SrSed OIS

2. %

only (b) and (c¢) are true

(b) 003N (¢) e SPGBl OB
3.¥

only (a) 1s true

(G RNVELTNVRSTSINA
4. %

Question Number : 95 Question Id : 719650895 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

A steel rod has a radius of 10 mm and a length of 1 m. A 80 kN force stretches it
along its length. If the Young’s modulus of the rod is 2x10" N/ m” . then the change

m length is

1 m &) o e 56, 10 mm Fgrde SO0 G 6. T TFEad) Jozok 80 kN eees”
HSGold. $6 TR0, 0ol ¢tae 2x10™ N/m” @owds, oed FEs” Suuth Sty

Options :
—mim
T
1. %
—mim
T
2.v
3
—mm
T
3. %
lmm
4. %
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Correct Marks : 1 Wrong Marks : 0

A block of iron contains a hollow cavity as shown below. The block weighs 6000 N in
air and 4000 N in water. If the density of iron and water are 6 g/cm® and 1 g/em’, then
the volume of the cavity 1s

(Assume g = 10 m/s?)

DS WP DArP 2u¥ BHD Q& ed'en S'edan Fd. Sy PO 6000 N 2005w
Ae3S" 4000 N 208008 SPt00d. Haw Fodeh 6 glem? SHOCK0 A& Fode 1 glem’
0N §'¢Sa50 OBnE), L0 HOSIE.

(g =10 m/s? 93§ E)
7 %3055
—> Cavity

/i

Options :

0.05 m’
1. %

05m’
2. %

025 m?
3%

0.1m?
4. &
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A heating element of mass 100 g and having specific heat of 1 J/(g °C) 1s exposed to
surrounding air at 27 °C. The element attains a steady state temperature of 127 °C
while absorbing 100 W of electric power. If the power 1s switched off, then
approxiunate time taken by the element to cool down to 126 °C will be

(Neglect radiation)

B330°3 100 g 00050 D8R0 1 1/(g °C) H a8 @O drodsn (element) 27 °C ¢
SoEDEH O Ko POS wirdte Dolzked. 100 W Jg®d Pldfge (orod & Sareso
127 °C & 26 3D TP D800l DD DSHT® VDD IR, BATS & darods
126 °C &% égeoc‘:aw"ﬁ}g SSVALL oY o RV RO VOV

(D88EPQy, WG& g0 WOSgol)

Options :

0.1s
1. %

1.0s
2.

50s
3 8

10.0s
4. %

Question Number : 98 Question Id : 719650898 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

An 1deal gas at temperature T, pressure P occupies a volume V. If its temperature is

halved and pressure doubled. what 1s its new volume?

T &dried 000k P Hiadain &8¢ 2.8 &80y r0inad) V 0 DOSrmra) esEdoluel. e
YD DPLS Bhod, HETPV) 0EIei) WS T & DS HOSI*EsS0?

Options :



2
2. %

'\rl."
3. %

2V
4, %
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Correct Marks : 1 Wrong Marks : 0

A carnot engine whose efficiency is 40%, receives heat at 500 K. If the efficiency 1s to

be 50%, the source temperature for the same exhaust temperature 1s

40% PSSg0 (50 PG 6D OPole 500 K 56 aiPQy Hred. o8 PR IO

Fohdgo 50% PGPS SOV oo (source) &

Options :

900 K
1. #*

600 K
2.

700 K
3. %

800 K
4, ®
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A system goes from A to B via two processes I and II as shown in figure. If AU; and
AU> are the changes 1n internal energies in the processes I and II respectively. then the

relation between AU; and AU» 1s

I 50005 1T H80he Tgoe af S350 A &6 B 298 360eed. AUp 5005 AU e
SE0% T 50050 TT HE0HOES” o956 38 S0, AU; 0050 AUz © Sy Dotdelo

P I

Options :

AU = AU

All= AU

2. 8

A= Al

3. %8

undetermined

@é&oxﬁtﬁo 3"(‘:),80 0

4.%
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An organ pipe with both ends open has a length L =25 cm. An extra hole is created

_ E y .
at position - The lowest frequency of sound produced is

(Assume speed of sound = 340 m/s)

L =25 cm réad) o 07 22 (organ pipe) Totd DSGL0 0 &) L.
G5 Boge wITYEN B, T o6 FOVSERS B30 5 FIDSg0
(G337 o¥ffo = 340 m/s DS E)

Options :

680 Hz

340 Hz

2. %

1360 Hz
3.¥
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Correct Marks : 1 Wrong Marks : 0

L

Fo &
2 P

@

The magnifications produced by a convex lens for two position of an object are 4 and

3 respectively. If the distance of separation between the two positions of the object is

2 cm, then the focal length of the lens 1s

w8 B00grsd S0EI0 $L Tolid o3I 2doliedL) B3E Gowdeals el 0%y Sty
SSGTen SEOP 4 OS5 3. & S Gl 2otdedHL Totey 2 cm SrdetS

%é;‘égw@, §G&§3Q) U“Bﬁgo@éo

Options :

20 cm



16 em

2. ®

28 cm
3. %

24 em
4.9

Question Number : 103 Question Id : 719650903 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What mimimum separation between two objects a human eye would be able to
resolve. 1f the eye pupil diameter 1s 2mun. and the two objects are 20m away from the
eye.
(Assume human eye to be equivalent to a convex lens and consider the average wave

length of light as 600nm)

5ol aPd TPgo 2mm &) SHR&) XY ed” 20m CrdeS &) Dol S0 I8 JSore
WPEEPUS & Oolld SSUadL So6dg &elialda U8 L.

(SFSHD EDYD HoogPeES LSS VYT, SO0 Fod VOO SBolBgesw
600nm ™ 2ol )

Options :
7.32 mm
R4
8.72 mm
2. %
6.2 mm
3 R
471 mm
4, %

Question Number : 104 Question Id : 719650904 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0



The shape of wavefront of light diverging from point source

208 200t B3%a80 Qb BDDOEIN Dol Bl AlnE), iy

Options :
spherical
TEOLo
1.
planar
000
2. ®
cylindrical
Qs lo
3. %
circular
S9T°5°Co
4. %

Question Number : 105 Question Id : 719650905 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



A cube of side L has point charges +q located at its seven vertices and — at remaining

_LZ

, X ) — q
one vertex. The electric field at its center 1s found to be ‘E‘: o %J.The
e,

magnitude of constant « 1s

L 29e350-8"0 o 2u¥ o Ay 7 3orod” +q 2ot &aiwren OO ¥ 3o

s \l
g BoSWEID. TR Sy BT AgS EBo DL ‘E‘:a‘ ﬁ P &)
\are, L)

@U"o§o ‘(\” Cﬁlﬁ& D030

+q +q
+q +q
L ]
-q +q
+q
+q
Options :
4
3
1. #®
8
3
2.9
3
3.8
1
4. ®

Question Number : 106 Question Id : 719650906 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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A capacitor 1s fully charged with a battery and then disconnected. A dielectric 1s then
inserted into the capacitor. How do charges on surface of the dielectric and outer

surface of the plates of the capacitor would change respectively?

a8 gl Faleed” 2 SPALBID DoPdo® @uitte W & Gory® J SR
SPASS TEE Hirdo DddHGEGR. TGS GHOBL BT HOOKN PG Doy
BTEP3H00ES" €5, LT BRI &) DS G2y BotdTPO0?

Options :
mereases, decreases

HutHSPow, BfoEPow

1. ®
decreases. increases
&gV Lo MWAFVIe VeV oW
2. %
increases, remain unchanged
REANSPOW, TP Woldad)
3.
remains unchanged. increases
S380y Delded), RBLEEOW
4. 8

Question Number : 107 Question Id : 719650907 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. . . 2 . . -~
A conducting wire of cross-sectional area 1 em? has 3 < 10 charge carriers per m®. If

wire carries a current of 24 mA., then drift velocity of carrers 1s

1 em’® S06gY0 PF0ge SONS af P8 S8 M’ & &y WITEIEFLW 3 x 107 &
24 mA gD VPP, SIS QoS, TP @G (&) ot

Options :

5% 102 m/s
1%



0.5 m's

5x 107 m/s

5% 10%m/s

Question Number : 108 Question Id : 719650908 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The total current supplied to the following circuit by the battery is

grge0d WegO° & $od SLCITEIS WolloWebdd dnte D Do

Options :

4 A
LV

2A
2. %

1A
3 8

6 A
4. ®

Question Number : 109 Question Id : 719650909 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



A conducting wire 1s i the shape of a regular hexagon which 1s mscribed nside an
mmaginary circle of radius R. If a current I flows the wire. the magnitude of magnetic

field at the centre of the circle 1s

RETYE Brded” Gy a8 TirE) &, R aPgrdo 300 Gl Sy@sne” Asyehab

Gol. 35S é&f)g)"mﬁ 53(5,),5{‘5 werere | @Ql)cﬁ%})()&)@ égl?_l_‘? goéo :5(.:& E:?Cﬁjﬁ"zro@ §gl_’9

L

063" 0

Options :
o J
23 7R
1. #
V3 Hyd
27R
2. %
Ry
27R
3%
3 i J
) R
4.

Question Number : 110 Question Id : 719650910 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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A coil having 100 turns is wound tightly in the form of a spiral with inner and outer
radii 1 cm and 2 cm respectively. When a current 1A passes through the coil, the

magnetic field at the centre of the coil is

100 Sogw e a8 A5 W& VOYPs 8o (spiral) &ég{@apé}, Q) o3 TPgrdo
1 cm 005w ey oavgﬁ,wo;o 2 cm &?of‘;éotéxw 20T wSodred. 3%eS" 1A oﬁc‘ﬁaﬁeﬁ
DL HILPLNSY,, B Bolo SO SO o Eho

Options :

2 (n(2) mT

LV

2511(2) mT
S

ri{n(2) mT
3 8

\Eﬁr (n(2) mT
4.%

Question Number : 111 Question Id : 719650911 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let i and 7 are the dipole moment and radius of earth respectively. Then the earth’s

magnetic field at the equator is

1 0050 7 € SEOIT 25ra) BEYS EPS850 SHO0KN TEFFT LD AN 8l Sty
SE BIPeCTy 0B Edo
Options :

iy m
Ax ¥

1V

fy m

3
8rr
2. %



Ly m

3
2rr
3. %
My Hi
T ?'3
4. 8

Question Number : 112 Question Id : 719650912 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A circular coil consists 70 closely wound turns and has a radius of 10 cm. An
externally produced magnetic field of magnitude 2 x 107 T is applied perpendicular
to the coil. The net flux through the coil is found to vanish when the current in the coil

1s 2.2 A. The inductance of the coil 1s

10 cm aPgge BONS SHTPd 5 HS 70 i ST el 6T°) 0w, WPEPger®
BOSrEIVES WODF et Edo 2 X 107 T i) Lotel™ HAIPAodeniod. & GieS’
DB HPLR 2.2 A &Sy D PO HaoG® HITS), 56 @DTEES0 $rSgo. GO

& S¢§ Jody 0y, HEESgSw (inductance)

Options :

2mH
1.v

3mH
2. ®

4 mH
3.8

1.5mH

4. ®
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The LCR circuit shown below is driven by an ideal AC voltage source.

$0cd Wra0tesd LCR oo 2 @30y AC $z2 &350 TPIT° dibidloudanttiuod).

L
 rBmTET—
AN
R [ |
1 IC
At frequency f = — . the correct statement is
27~NLC
1
FSweddge f=———== BB DO V¥
L 7l
Options :

The current through R 1s zero

R #00m® DG5S HaPlPe 07

1LY

The current through R 1s infinite

R Mocwe OOJC,)O?S?E éo&"?ﬁ"o doo
2. 8

The current through R depends on the value of L and C

R oot 260ged Darriro L 2000w C endie)) esmrdheotied
3 8

The curent through R depends only on the value of R and not L. and C

R 00t 205D Daedre Sa¥0e R & esrdhceined L Sookn C 9 eprdd.
4. %

Question Number : 114 Question Id : 719650914 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



At an mstant, a plane electromagnetic wave has its magnetic field in the direction of
the vector i—j and its electric field is in the direction of i+ . The wave is travelling

along which direction?

Wy boﬁ)Oﬁ)O@é, 2o %) &')5535{3"0533"&0@3 &Te T el Cﬁl}gzr @Cﬁ)ﬁ"&o@ ‘g@o i : } :
00F OIS Gobs, DX05SB Eo 1+] OIS God. Batio &) IS HOIrRE?
Options :

+ X direction

+x &F
1%
— x direction
—x &3
2. 8
+ z direction
+2z &4
3. %
— z direction
—z &3
4.

Question Number : 115 Question Id : 719650915 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When the energy of incident radiation is increased by 20 %, the kinetic energy of the
photo electrons emitted from a metal surface mcreased from 0.5 eV to 0.8 eV. The

work function of the metal 1s

2% DSBS D8Ges0 F50 20 % DS Y, SEPR) GOS0 Sdobs Jendtes o3 @D??E)U

Kbz 45 0.5 eV Sol 0.8 eV 030 20000k, & &) DR Hadofe

es

Options :

0.65 eV

1. ®



1.0eV

2.
1.3eV
3. ®
1.5eV
4. %

Question Number : 116 Question Id : 719650916 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In the Bohr model an electron of mass 7 moves in a circular orbit around the proton.
Considering the orbiting electron to be a circular current loop, the magnetic moment

t

of the hydrogen atom, when the electron 1s in 7™ excited state, 1s:

(Assume h = Planck’s constant)

250 SrmeeS” m’ (83078 0 DU TP Dhr SHTFE  $X3S BBR6b.
545 SEDHES), DOFID wf SYTFE gD PorD® G WIS, N & e
PO JUFIR ) )Y PERS DESTER) OISy, WO o aP¥Sn

(h = gPoS QTe%o D))

Options :
f 2
[ e n'h)
\ 2m 27
1. 8
(e \nh
L )27
2. %
[' e \nh
\ 2m )27
3.9
(e ]Jﬁ'ﬁ
\m )27

4.%



Question Number : 117 Question Id : 719650917 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A radioactive element which can decay by two processes, has half-life 7 for first
process and half — life #, for second process. Let (f) be the effective average — life of

this element. The correct statement 1s

Oole) DECHL TR0 L0RHODg 28 BGOIR P08 Jrwfe Glg),. ©J 28 S0 e
o8 1, SH0080 Cotisd DECNES” 8 A Lo 1,. () Sre¥e AlE) JEraTr)¥
A o =1 2 o
DTP00 20 Lo OB, N0 Dede
Options :
(1) < A .
1.V
(1) = 2
t o+t
. %
(1) > A2
h+bh
3. %
[ #4% )
= Tnaf 2 \
\h L )
4. %

Question Number : 118 Question Id : 719650918 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



A p-n junction diode can withstand upto 20 mA current under forward bias. The diode
has a potential difference of 0.5V across it. which is assumed to be independent of
current. What 1s the maximum voltage of the battery used to forward bias the diode

when a resistance of 125 Q 1s connected 1 series with 1t?

P Dol GAIPGE 20 mA gD HIHESND PG FEYIS" SN IEOR. EOBTESS
FEI0DES Bido 0.5V S S5 HPEren) SEEHLEGD &FDod 125 Q SE'GS0S Fehes”
EOIPGESE KeRde W), TPR), T FESNS” GHOIFHcOR SOV 903 emged

Jes?

Options :

30V
1. ¢

)
h
<]

32V

20V

4. %

Question Number : 119 Question Id : 719650919 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a Zener diode

o 870 GOIrG &
Options :
only p-region is heavily doped
P- g"c—@o 055"@-:33 Wéﬂ“ ﬁf"&'éﬁ&io [doped) 03 RS T
1.8
only n-region is heavily doped

- Poo el e JS5rQEGee (doped) Woeactotiet

2. ®



both p & n region are heavily doped
P <0050 11 PetPen grOrP SreGEese WOLWEEPoN

3.9

both p & n region are lightly doped
P 30000 1 ZPoTPen DIV SrGEGEHe Wobhdierow

4. %

Question Number : 120 Question Id : 719650920 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A message signal is super-imposed with a carrier signal. The resulting modulating
signal Cp(t) 1s given by C(t) = Agsin(wit) + Axsin(wz t) — Arsin(wat) where
w2<Z w1< w3. The modulation mdex and the angular frequency of the message signal

respectively are

208 0004 oS8 rar¥ K}og’éc}@ﬁ &—9@56‘55)830 Wt ch. é@é w@gfj@oﬁ Vn)og-@“rf}l
Ci(1), @ows Cm(t) = Asin(wit) + Assin(w21) — Assin(w3 t) T Bl
W2< W1< W3, Vo VoS AlnSy, SrgTRR JPW SO0K §7E0D ardyige SEOMP

Options :
A, 0;,—0,
AT 2
1. ®
2A,
» 03—,
et
2. ®
24, 2
3. %

2A, 0;-0,

A, 2
4.
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Question Number : 121 Question Id : 719650921 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
M M : :
In the two elements ; A™ and , B™.the following relations are true.

M, #M,andZ, # Z, but M, —-Z, =M, - Z,. These elements are

(M 1s atomic weight. Z is atomic number)

Coted shrosen , AM 00k ; BY 0 §0& Sosotidown 1 M; =M, 000 Z, =Z,
I M, —Z, =M, ~Z, J%gln. & Lrosen
(M=38a850760 g7°8a0, Z=0H080780 Do)

Options :
Isotonic
OS5
L
Isobaric
0er0s
. %
Isotopic
2S5
3 %
Isoelectronic
PV DUT9IVE
4 %

Question Number : 122 Question Id : 719650922 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0



The correct order of decreasing energy for the electrons whose quantum numbers, n and
( are given below, is

A) n=5and (=2 B) n=5and { =0

) n=4and/ =3 D) n=4and /=1

0t B8 206S 0tued Dowgew N1 SHOAKL [ Denden (OHS JUFIDL ¥8 ST HOGS Fdan
A) n=2>5 060w ( =2 B) n=>35aa0aw [ =0
C) n=43000%0 (=3 D) n=4 Soaln ( =1

Options :

AL B >D

A>B>C=D

C>A>D>B

3. %

A>B>D>C

4. ®

Question Number : 123 Question Id : 719650923 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Find the correct set with iso electronic species?
830 DUFIVE 2O Do2IoGoR ) BB DEAVIE LG $00?
Options :

N, F, 0,, Ca*

1. 8

Ca®, €I, AI*, 0,

2. %



N°*~, Mg*,F, 0"

3.

Mg*, 0, CI', N3~

4. %

Question Number : 124 Question Id : 719650924 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Among the following, the pair of elements having same electronegativity values are

(1) Hand P (1) Beand Al (1) N and ClI (iv) Cand P

806 eSO 2285 SPOERVED DTS WNEDEOFEES E DLVBOD ORI
(i) H ook P (i) Beavoomw Al (i) Na&oawCl  (iv) C ook P

Options :
(i). (11) and (1i1) only
(1). (11) <0GCkw (111) SrSD

1LY

(1). (i11) and (1v) only

(1), (i11) sSo0ciw (iv) Srga
2. 8

(i1). (ii1) and (iv) only

(i1). (ii1) sOOSW (iv) SrS
3. %

(1). (i1), (1i1) and (iv)

(1), (i1). (iii) a0baw (iv)
4. 8
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The correct order of H—N—H bond angles of ammonia, ammonium ion and amide are
937 QO ©air ) 0o WOUFR SHON G ©&" H-=N—H 2006 §tr0 D00 S50

Options :

NH>—> NH; > NH4+

NH4+ > NHs > NH>~

2.

NH; > NH~ > NHs*
3 %

NH; > NH4" > NH>—
4. %

Question Number : 126 Question Id : 719650926 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Find out the correct hybridization of the central atom in BCl,. PCL,, NH, and SE;

BCl,, PCL,, NH, 6050 SE, o Sog¥ H8aPmedo H0ahS Ko8bE0e §susn 2a?

)

Options :
(BCl,: sp’); (PCL: sp’d”): (NH,: sp°) and (SE;: sp’d)
(BCl,: sp’); (PCL: sp’d®): (NH,: sp”) So6akw (SE;: sp’d)

(BCL,: sp”); (PCL: sp’d); (NH,: sp’) and (SE,: sp’d’)

(BCL,: sp*): (PCL.: sp*d); (NH.: sp’) 0605w (SE.: sp°d?)
3 P 5 p 3 ]: i} p

2.



(BCL: sp*); (PCL,: sp’d*); (NH,: sp’) and (SE,: sp’d)

(BCL,: sp®); (PCL: sp’d®); (NH,: sp’) &easn (SE;: sp’d)

3 8

(BCL,: sp*); (PCL: sp’d); (NH,: sp’) and (SE,: sp’d®)

(BCL: sp’); (PCL: sp’d); (NH,: sp”) Shocsw (SE;: sp’d®)

Question Number : 127 Question Id : 719650927 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which among the following graphs, correctly represents the Boyle’s Law?

808 (PO O 6 5°0NS AANSISND VO P D8

L)

Options :

2. %



3.9

4. %

Question Number : 128 Question Id : 719650928 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A vessel of volume 24.6 L contains 1.5 moles of H, and 2.5 moles of N, at 300 K.

Calculate the partial pressure of N, in the vessel.

300 K &6 24.6 908 @ 1.5 ardo H, H8an 2.5 rdu N, & 50005005 6.
FHS'D FESRS FEE HESIND Hedosinan.

Options :
1.5 atm
1.5 03650&
1. 8
2.0 atm
2.0 Qdémy

. %



2.5 oUéJ"&
3. ¢
3.0 atm
3.0 o)é&ﬂ&
4. 8

Question Number : 129 Question Id : 719650929 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For a given unbalanced reaction, MnO> + HCl — MnCl + H>O, which is the limiting

reagent 1f the initial amount for each of the reactant 1s 100 grams?

[Molar masses: MnO> = 86.9: HCl = 36.5; MnCl, = 125.8; Cl,=70.9; H.O = 18]

SR AT Soogdird Hasdao, MnO: + HCl — MnCl: + H.0 oF 2 ol Solrmsisn
GB0%), €380t HOSTEe 100 [PSNLy SO ©owd ©e T8k &P
[S0erd @egorhen: MnO2 = 86.9; HCI = 36.5; MnCl, = 125.8; Cl,=70.9; HoO = 18]

Options :

MnO;
1. 8

HCl
2. ¢

MnCl»

3.8

Cl
4 %
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The emperical formula of a compound is C;Hs0 and its vapor density is 45. What is the

molecular formula of the compound?

28 0TI By wdzrf rdyer CoHsO 00k @l erQ)Foded 45 wond e
0y ¥ Iy, ewIrd LR Daned?

Options :

C-Hs0O
1. %

CsH1303
2 8

C4H100;
3. ¢

CeH1503
4. ®

Question Number : 131 Question Id : 719650931 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Find the value of the equilibrium constant (K) of a reaction at 300 K when standard
Gibbs free energy change is —25 kJmol ™ ?

(Consider R = 8.33 JTmol " K)

W03 Clogy Hres ey AWy 48 Sl doud —25 8 FSe0.3rS T wonsS 300 K 5
DBEPD PT70E50 (K) D080 ESHTS06?
R 2e0s 8.33 . SrS ! 593w )

Options :



e
2. %
elO
3.¢
ell
4. %

Question Number : 132 Question Id : 719650932 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 1s the pH of 10 L of a buffer solution containing 0.01 M NH4Cl and 0.1 M NH4OH
having pKy of 5?

pKo e 5 o 10 L o 2000 grsdeain 0.01 M NH4Cl &ociw 0.1 M NH4OH & £96

&0, °Q pH odoh?

Options :

8
1. %

]
2.8

10
3.9

5

4. ®
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Decreasing order of number of 1onisable hydrogen atoms in the following molecules 1s
$old Gt PEwaHOT UNIETE Wold FrE BN WIKITRLDHL Doty B1 ©ITTE S,

(i)  H;PO, (i)  HsPO; (i) HsPO, (iv) HsP20s

Options :

(i1) > (iv) > (1) > (1)

(1v) > (1) > (11) > (1)
. ®

(1v) > (1) > (11) > (111)
3.

(if) > (iv) > (iid) > (i)

Question Number : 134 Question Id : 719650934 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What will be the organic compound formed when, aluminium carbide react with

deuterated water?

WO PPYE 2°6a300e5° WEZToBIY Y B Sy Doy s I6?

Options :
CDsOD
1. ®
DCOOD
2. 8
CD4

3.



DsC—-0-CDs

4. %

Question Number : 135 Question Id : 719650935 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

What 1s the increasing order of hydration enthalpies of alkali metal 1ons?

OGS SOIPR0 FERS omd o D67 §080 &?

Options :

Rb < Cs < K" <Na" <Lr

1. %

Cy e R <K '<1i<Na"
2 R

Cs"<Rb <K <« Na <Li
3.9

Cs"<Rb"<Na" <K' '<Li”
4, %

Question Number : 136 Question Id : 719650936 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When orthoboric acid (H;BO;) 1s subjected to strong heating, the residue left is

UGO8 W) 2V SEBRSE NOS VSTRIN I&?

Options :

Diborane

GeSOm



Boron

25 TP
2.8
Boric anhydride
25°05 JDIF GG
3.¥
Borax
4, %

Question Number : 137 Question Id : 719650937 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
When graphite is heated at 300 °C with potassium vapour, it forms CsK compound that
shows one of the following property.
300 °C $& PR & FértoDo sRYe” S8 DASHE 8 CsK Dy T/Sdn 880
&5 00y FIRW Solo il QoD DXOWel.

Options :

Conducting and diamagnetic

T8 0008 GGOSre0iW) o
1. ®
Non-conducting and diamagnetic
PrE OGN GO iFE) o
2. %

Conducting and paramagnetic

P 000N LTFOF Zyoé

3. ¢



Non-conducting and paramagnetic

WPIE S00AIN DoPOr) oS

4. %

Question Number : 138 Question Id : 719650938 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following molecules is present in photochemical smog?

806 TS &) E) Fo SRADS P65 Gotnod?

Options :

SO2
1. %

NO;
2.

CO:
3. %

CcCO
4. %

Question Number : 139 Question Id : 719650939 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The correct order of the relative stability of the following carbanions 1s
&1 $0& FSGd PO YO @AITFOL AN Fa¥ VTG V0N ELoao

() HC=C"  (i)CH,= CH-CH,”  (i)H,C = CH" (i) (C;H,),CH"

Options :

(1) > (1v) > (11) > (111)



() > (1v) > (1) > (11)

2. %

(iv) > (i) > (i) > (iii)
3.¥

(iv) > (1) > (11) > (111)
4. %

Question Number : 140 Question Id : 719650940 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following sets of functional groups 1s meta-directing group?

800 AS" er-2F8 HAOH DrIFO DALY DD?

Options :
—=NO3, ~NHz, “COOH, -COOR
1. ®
—NO», —CHO, —SOs3H, —COR
2.
—CN, CHO, -NHCOCH;, —COOR
3 8
—CN, —NH,, -NHR, —OCHs
4, %

Question Number : 141 Question Id : 719650941 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The correct order of reactivity of hydrogen halides with propene is

TOS &8° rEas HOE © Sorgues HBS S D&?

Options :



HCI > HBr > HI

1. ®
HBr > HI > HCl

2. %
HI > HBr > HCl

3.
HCI > HI > HBr

4. ®

Question Number : 142 Question Id : 719650942 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The angle between (100) and (110) planes of FCC lattice 1s

FCC arofo Gy (100) 00050 (110) Serw oidy §%0 adod?

Options :

90°
1. ®

00
2.8

45°
3. ¢

120°
4. ®

Question Number : 143 Question Id : 719650943 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



15% aqueous solution of glucose (molecular weight = 180 g/mol) is isotonic with 8%
aqueous solution containing an unknown non-dissociable solute. What 1s the molecular

weight of the unknown solute?

15% @ré'ss sugrdao (wmerdo = 180 g/mol) edgd Sduddo Doticdénbotd wraain

50 &) 8% asugpdodd” RS T Gotiod. ©SgE TPt CnE) waErdsy ood.

Options :
108
1. ®
96
2.9
84
3.8
9.6
4, %

Question Number : 144 Question Id : 719650944 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The vapour pressure of pure water is 23 mmHg. The vapour pressure of an aqueous

solution which contains 10 mass percent of solute A’ having molecular weight 50 is

QYD IDS AE @ Dt 23 mmHg. 10 (5078 e O 50 el &) A’
I FIBIND FDH) LT SeIo ATy, PR VS wots?
Options :
0.003 atm
0.003 déry
1. %
34.5 atm
4.5 Mry

4l



22 atm

22 Qé&“gb
3.8

0.028 atm

0.028 aw&
4.

Question Number : 145 Question Id : 719650945 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the standard cell potential for the reaction with K=1 (equilibrium constant)

K=1 (D850&r0S 2070550 SO Wy din) Daimes Dot FE0NS oJoes?

Options :
One
2,583
1. %
Zero
WY,
2.¢
2.303
3 8
Infinity
2990890
4. %

Question Number : 146 Question Id : 719650946 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Opti

2.¥

4.%

For a first order reaction (A — B). the temperature (T) dependent rate constant (k) in

: 20 - :
sec—! was found to follow the equation: logk=| ——— |+4 . The activation energy (E,) and

T)

pre-exponential factor (A) respectively, are

D65 Kol B3 (A — B) &, &d8S(T) 2 omdde St povesan(k) secl

£ 20"
logk:l —%OJ+4 DEESEPR), OO0, &1 g exedased ¥ (Ea) SHO0K0 RPEgirerol

(ogaseen(A) SC0orP

ons :

46.06 cal mol-! and 10™#s-1
46.06 cal mol—1 Séokw 107451

9212 cal mol~! and 10*s-1
92.12 cal mol-1 6050 10*s-1

46.06 cal mol-1 and 10*s-1!
46.06 cal mol—1 5605w 10*s—1

9.212 cal mol-1 and 107*s-1
9.212 cal mol-1%6aiw 107451

Question Number : 147 Question Id : 719650947 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The method which 1s based on the principle that “different components of a mixture are

differently adsorbed on an adsorbent™ 1s called

2 SFS0 ), B S0 B HobEsNen SRR BEF R BT RNSGE S &)

PR SEEHE00.

Options :

Zone refining method

S0t §°60 DS
1. ®
Vapour phase refining method
PR PR 3G VWS
2. ®
Liquation method
RS Dyws) Oes S
3.8
Chromatographic method
§ESPaSs OB
4.

Question Number : 148 Question Id : 719650948 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The solubilities of the impurities in the melt and solid states 1s not same. This principle is

applied during the extraction of boron. This method 1s known as

@S OGN S VSO HOTPL @rLHithGL VS Fah). € Wrgo o ci};azyg)eatﬁ*‘
SDAPHOITE. 88 DEBD IS0trE0?

Options :

Poling
FOoh

1. %



Zone refining

n“iJoCéU ‘5565.«5-0
2.
Liquation
AORE DYy Seao
3 R
van Arkel’s method
P t—?@&@ 2GS
4. %

Question Number : 149 Question Id : 719650949 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many bridging oxygen atoms are present in P4O1o?

P4010&° dR) 86 (2%02008¥) 81230 DISTERNHLN GotTan?

Options :

4
1.8

5
. %

6

3.¢

9,

a
4. %

Question Number : 150 Question Id : 719650950 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Ozone 1s obtained from oxygen
¢
@8 180 Do a8’ o) WP S0l
Options :

By oxidation at high temperature

68 Y 3¢ esdyE0ns Boio S0

1. ®
By oxidation using a catalyst
€2 Y90ESND @OTIPHod 8300 Wakitio s
2. ®
By silent electric discharge
Q¥ DS e Gl WokEo 5L
3. ¢
By conversion at high pressure
OO HESI0 B¢ S, & (DO0STNn ) Do S
4. ®

Question Number : 151 Question Id : 719650951 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the oxidation state of Cr, when the pH of the aqueous solution of potassium

dichromate changes from acidic to basic?

SréPR0oie G§ 8 ssogrdte gy pH wediardo ot 200 03705850580 S0 16
§'an0ho sy, w8350t D odo?
Options :

+5

+4

2. %



Question Number : 152 Question Id : 719650952 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Coordination number of Fe in the complexes [Fe((‘N)6]4_ ; [Pe(C‘N)ﬁ]j_ and [FeCl,|

would be respectively

Fe(CN), ¥ . [Fe(CN) I~ 00050 [FeCl,|” %oz advared’ Fe cind) 0stof
6 6 4 do é & S

oI SR

Options :

2.3, 3
1.8

6,6,4
2.

6,33
3. %

6,4,6
4. %

Question Number : 153 Question Id : 719650953 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Type of reaction involved in the initial step i the formation of Bakelite

BESES B esorl G¥S 2207 Worgto B?
Options :
Electrophilic substitution

oS’ 9O8 VS EDT0



Electrophilic addition

2$9DOS DoFudsin

2.8
Nucleophilic substitution
Sr330irHds H&EDemo

3. %
Nucleophilic addition
g SairHOs Dofuden

4. %

Question Number : 154 Question Id : 719650954 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following are reducing sugars?

I) Sucrose II) Ribose 110) Lactose IV)  Fructose

&1 808 A" KODEE w555 B DD?
) S M)  5eSs M) o8 IV) 5%

&

Options :
L, IT only
L II g9

IL II1, TV only
IL, I, TV Soeghado

IT, IIT only
IT, IIT SoeSedo



L, II. TV only
LILIV é?,@,;fo

4. ®

Question Number : 155 Question Id : 719650955 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The number of six and five membered rings present in norethindrone (a synthetic

progesterone) are respectively

P00~ G (5)Bh FBPO°R) & &y &l SOOI 2060 Doargs SLOPwL SEXP

Options :
2 and 2
2 803 2
1. 8
Jand 1
3 605w 1
2.
3and 3
3 5605w 3
3. %
3and 2
3506050 2
4. %

Question Number : 156 Question Id : 719650956 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



4—Nitrotoluene (para—nitrotoluene) on reduction with Fe/HCl and then electrophilic

bromination with an excess amount of Br» gives

4—@@&?5“@5(3)‘0“- Qg@ﬁ“@é) Fe/HCl e5° ¥008080 Robss Sloards, eob¥ e Br 5
QUFIDOE 8T 20DEGE0 2OV DENBE &?

Options :
N
i |
C
1. 8
N
Br
Br
i
2. %

Br ll‘ Br
3. %
r

B \@/Br

Question Number : 157 Question Id : 719650957 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

H,
B

H;

H,

Hs
NI,
CH,
NH,
CH,



What are X and Y in the following reaction?

8ot 63 X 50050 Yoo Qa?

HI
OolD) s
A

Options :
X ¥
O o
1.8
X 4

o g

2.
X Y
O/OH O/ |
3. %
X Y
4. %

Question Number : 158 Question Id : 719650958 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The major products P and Q in the following reaction sequences are

&8 8o B0 WO HEPSorP TG P 0005 Q Sy 0 @enipaiv.

Br

(i) Zn
—_— P+ Q
(ii) O
Bt iy zn, 1,0
Options :

P Q
3-Methylpentanol Ethanol
3-2006 RetoSS BOTS

1. ®
P Q
3-Methylpentanal Ethanal
3-208S obord [OTS
2. X
P Q
3-Methylbutanol Ethanol
3-0FS agbaS’S gOSTS
3. %
P Q
3-Methylbutanal Ethanal
3-08S angboard QTS
4.9

Question Number : 159 Question Id : 719650959 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Identify the correct decreasing order of acidic strength.

52000 &7 1T ESS0D (000G

bt

COOH COOH COOH
NO, OCH;,
() (ii) (iii)

Options :

(111) > (i1) > (1)

(1) > ()= (111)
(1)> (111) > (1)
3. %
(1) > ()= (1)

Question Number : 160 Question Id : 719650960 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Identify X in the following.

800 TR X% (9980w,
NH; (i) NaNO,, HCI, 273-278 K
(i) HBF,
>
(iii) NaNO,. Cu, A
CH,
Options :

F
CH;
1. %
OH
2. % e
® o
N,F
CH;
@

3.



NO,

CH,



